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11.(a) xeR e3¢ f(x) = ax® + bx+ ¢ o3 0B, 088 a >0 w80 a,b,cER b,
JS(x) 8 898 gow -% A0 eusixsim; @®8 A = b? —4ac @b.

P 0 q o7 O morksidm e 8 ¢ re R &3 ¢ 0B5Q. D¢, xE R eagemn g(x) =px2 +2JE x+qr
8 ¢ 058,

8(x) = 0 e8ndewnd mluidn @ o9&l 30 € . r> | 30 evslDss.

al, g(x) 8 q0® gow g 3D & gu. r = 2 AD v,

y=x+1e0e obadnd r=2 o y = g(x) &0 (0, 1) closew8E g dobe eliadnd »®, p wi g
8 aves’l eenasim.

(b) a ER =8¢, p(x) om @y 4 § Ayscas B ¢ O8E. (x — a) a¥» p(x) ©0 p'(x) v ecemi®
200w 8, (x — a)? wslm p(x) 8 endmas O D evxosi; OB p'(x) @2 p(x) 8 x Bvwewss
dxsiusime ed.

xER ecms f(x)= x*-x—6x2+4x+8 8 OB, (x — 2)* ax¥m f(x) 8 edwws 99 qecinnn
DO,

f(=1) 8B goe eeaw, f(x) e@ylmens’ dmdE0 edst mosim.

12.(a) B88 8 eqeomeos’ © 0y 6 eterneos’ | B eaIIeRs B8 4 etorneen’ ) ©E
4 ecerneed 6@ty HEJOE emic om gy .

(i) ®8g0 et o 9B eOme 41916 Ve cewsis.

(i) oag »8HYE eoid oden v@ Bu@. BB owins ececemn Snen D98 B emoS
00, 60 H8Y 8PS cdBumd 018 By v eOmE q1d D GeBET.
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(b) Bag nEZ" e 2 U, =-g n+1)(n+2)(n+3) @0 & g>.

r=1

Buog nEZ" esemo v, =n(n+1)(n+2) 29 eusDsm.

Bog rEZ weem V, =—{;l,— =8 oRg,

r

Bog reZ’ =_4A B
G r esgzo V, r(r+1)+ CTSVEY) 02 =68 A 9 B 2055380 Sum eesansis.
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E V, 9008m ogfic ¢8e8 90 m0edon evnid 68 edmso e,

r=1

2 v =—lzé)zn ©88 mEZ" ewssim.
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13.(a) a€R 8 ¢ A = [ T J 8 ¢ 08 A ©08» 3D evxid, A 8wy eSO,
-a

1
B= 08 05§.

I B
(i) A'BT = -%[ a1 ] Oz @08 § a 8 gos eeacsim.
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(ii) BC = ( . 2 ] O 88 g C mmoescs eesassiz.
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®) z€C 8 0BY. 28 wBbem B 7 00 28 Swswomas |2| oS eOsm.
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|zl =] 8, z = s R0 cevslD), 5@ wel €3¢0 |z—w|=|1-Ew| R0 gesionE mIsH.

asl, z =%(1+«/§1‘) 8 088, |2| @0 Arg z eenwsim.
W<1 e Argw =a & 82 wel =8 0BE; e@8 0<a< L ob.
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dag, o w Bl anis emidh oRBx, l,z,w ® Zw SBowess 50 cSes gosid

eovom g B0 [2-w=|l-W| brlert 48 68 Ex8Bme 88 »oss.
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14.() a.p.qeR wpey o ORE,

reR {p,q} egm [( (ax+ |}(J+2}
1 ) [(x)= (Crey ] @8 ofg,

Y= [(x0)8 gudmoced Baes tdobeotdga x =1 v x = -4 ap & . p v ¢ 8 goost B cSusi.
y=1lwsto y = f(x) 8 gebdmced Boed dobealzigiaos a0 2 ¢ 80, a = | 86 ecosn.
a,p g8 eo® qgowvs’ ¢ f(x) 080 LEmS J(x) e ehzins ecaxszis.

80) =f(x) + 1 08 0B,

£(x) 8 vdhew Bw ¢omis.

(b) BEeOCw k m? § wngensemenmid eve¢en dnbacs Eed 010
e5:8@0 §DR1D . mag:amf&ﬁag@c:f 3o x m 8 0B (G AT D). S
e08 §o L m ey [* =x2+ K k 08 e¢y CA® AD evsiDs.
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S ald, L 400 03t x=Vk om 80 a8 evsiomm. xm

15.(a) k ER o8 05§, I___) dx ewasis.

X (x—
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(b) Ixsin(ln x)dx O om0 duews’ guEEH WvIdnewsl oo §58 eucBnst end
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j x{2sin(In x)+cos(Inx)}dx = e™ 8O eesOH.
I

)
() k>0 18 ©B§. x>0 e¢mo %{(kv’; —l)ek“";}=%e"ﬁ 2D essidnsim.
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I =J M dx B¢ 0B, I, =k%{(2k-1)e2*-(k-1)e*} 30 eomOsm.
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S on y:e‘g,x=l,x=4 0 y =0 O 083 gdad O eveges 1B R,

S 8 oBedcs 2¢* 3D evrsidsis.
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16. nER o8¢ oy m grpoes ecn gBo A= (3, 1) ces ©dm wp ebant w8 ¢ B0y,
I8 e8mcenn m q183e0s Ew (Soxim,

A ©50 S, =552+ 52~ 10x + 10y + 6 = 0 800 dolion eqm cofin AL ewsdtn, dur od fare)
GIDI DO BLIBBIH.

B 0 D sz 0®® duben S, =0 dusno dube non ctes w8 ¢ C on 5, = 08 edoiew i@ ¢
O5E.

ABCD oz dDushy Dndgesd @0 ews’es A,B,C 1 D cfes 90 oo Dadpew® o@mdens
©e3005IB).

BD &ube sscesd edmcamn ewmw, B m D wdwm o §,=0 didns gedud ed¢pw B0
Dasimens dncmn eensin.

17. (a) 6 ER esgeo cos?0+sin’0=1 a9 ewDsm.

cos? x—1=sin? x+3cosx ©®mdeo mdn mdm [0,2n) Hvde ne § Bege x 8 gowrs
©£30c325325).

(b) ABC Somiegian 18 058, geoig gommewss A+ B+ C=n o g8ocs ©0mews3

sin (%) = cos% 0 cos(B—;C-) = sin% 20 ensiDsim.

Bl oll BB o 1 g BueiCoinllo B U
tr:m§+t;ani—ccus2543(:25".302 oo 1 tal12tar12 smzseczsec2 29 gesinma mOD.

Ap.B By C Cianl =1 88 eostosis.
S 233, tanztan2+tan2tan2+tan2tan2 1 Cls]

(c) xER egm tan"'(Zx)+tan'1(3x):3T” Besgsim.
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